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Q1. a. It is necessary that

b. You perform well but

c. We might have to fail you.
d. No error

Ans.:- b. Explanation: - The correct
sentence is — “It is necessary that
you perform well or we might have to
fail you.”



Q2. The blinds
b. deserve

c. our sympathy
d. No error

Ans.:-a. Explanation:- The correct sentence is —
“The blind deserve our sympathy.”



Q3. The judge asked the man
(1)/ if the bag he had lost (2)/
contain five thousand
rupees (3)/ The man replied

that it did (4)

Answer: (3)



Q4. The third season of (1)/ the
popular television show will ends
(2)) on a grand note with (3)/
Celebrities dancing and having

fun(4)

wsiza]

Answer: (b)



Q5. She has been (1)/ complaining about headache (2)/ from morning.

/(3) No error (4)

A. complaining about headache
B. from morning.

C. She has been

D. No error

Answer: (b) For point of time, since (Conj.) is
used Hence, since morning is the right
usage.



Q6. There be a long queue for entry into the
exhibition ground.

A. No error

B. There be a long queue
C. for entry into

D. the exhibition ground.

Answer: (b) is/was (be) is missing. be is a Linking Verb.
is/was/ (be) is followed by a Noun
There is/was a long queue is the right usage



Q7. Private companies which
profits (1)/ have grown due to (2)/
the high price of oil (3)/ should
offer discounts on cooking gas

(4)

Answer: (1)
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Q8. Everyone agrees that (1)/ the
Ganga is the holiest (2)/ of all other
rivers (3)/ of India (4)

Answer: (3)



Q9. The large balloons (1)/ | bought for Christmas (2)/

is very nice. (3)/ No error (4)
A. (1)
B. (2)
C. (3)
D. (4)

Answer: (c) Here subject (balloons) is
plural. Hence, are very nice should
be used.



Q10. (P) The house (Q) has built in an (R) attractive
manner. (S) No error
A.P

B. Q
C.R
D.S

Answer: (b) The part (Q) has an error.
Here, Passive of Present Perfect should be used.
Hence, has been built in an is the right usage.
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11. A drop in a bucket

A. Nothing at all

B. A handsome amount

C. A very insignificant amount
D. As much as possible

Answer: (c) A very insignificant amount
A drop in a bucket = a very small or
unimportant amount.
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12. Button one’s lip
A. Stop talking

B. Invite us too

C. Enjoy herself

D. Tell us more

Answer: (a) to stop talking
Button one’s lip = to be
quiet; to stop talking; to say
nothing.



13. A Man of letters
A. Proof-reader

B. Postman

C. Scholar

D. Letter-writer

Answer: (c) Scholar
A man of letters = a male

scholar or author; a man who
knows a lot.
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14. Every dark cloud has a silver lining

A. Every unpleasant situation has a positive
side

B. Every dark cloud is upsetting

C. Cloud with dark and silver lining is good

D. Every unpleasant situation has to wait

Answer: (a) Every unpleasant
situation has a positive side



15. Evening of life
A. A party
B. Holiday
C. None of these
D. Old age

Answer: (d) Evening of life =
old age
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16. Bark is worse than his bite

A. temper cannot be controlled.

B. ferocious scolding hurt more than his
action.

C. anger is always justified.

D. threat is worse than the action taki™

Answer: (d) bark is worse than
bite : threat is worse than the
action taken.
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17. Alive and kicking
A. Dying

B. Becoming old

C. in good health

D. Playing football

Answer: (c) in good health
Alive and kicking = prevalent and very active;
alive, existing; active and in good health.
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18. To add fuel to the fire

A. make the fire burn brightly

B. make things worse |MI
C. waste fuel for no reason

D. prevent fire from dying out

Answer: (b) to add fuel to the
fire : to make something
especially an argument worse.
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19. The teacher said to him, "Do not go out."

(1) The teacher ordered him to not go out.

(2) The teacher told him do not go out.

(3) The teacher advised him not to go out.

(4) The teacher commanded him that he should not go out.
(SSC CGL Tier-Il Exam, 25.10.2015)

(3) The teacher advised him not to go out.
In Imperative, Negative Sentences do not is
removed and not to is used




20. Rajiv said to me, "He plays with right hand."

(1) Rajiv said that he played with right hand.

(2) Rajiv told me that he could play with right hand.
(3) Rajiv told me that he plays with right hand.

(4) Rajiv asked if he could play with right hand.
(SSC CGL Tier-1l Exam, 25.10.2015)

(3) Rajiv told me that he plays with
right hand.

When it Is a habitual action, the
Tense of the V. remains unchanged




e

Everything has became very
expensive these days.

1. No error

2. Everything has became

3. very expensive
4. these days



My father said to me, "Will you sit and study at least now."

(1) My father asked me if | will sit and study at least then.

(2) My father asked me whether | can sit and study at least then.
(3) My father enquired me if | would sit and study at least now.
(4) My father asked me if | would sit and study at least then.
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